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�������	
����
�����
�������	�������	�	 (descriptive research) �!"#$%&�'����()*+*��
,-.,-�
/
,)0-)�$�	12�
.3��4��35�6��7(0������-����'� ��4�80$.)+���,)0�9�	:�#�80����������/

5
6�	���-����'�8$�2��!	���+-�8+�

��
:�; �<�
�
 90 ��	 
�(�+"$��+16.?��$	6��*��
���3��?�.
1@-.��?�:�#�<�5
( *+3��4�80$.)+�35�6���("$
-��5�
. 2549 D&� ?1+�
. 2549 
,+�������	:�#7(0
<��-
$/
�)�?������3�$�������	�	  (��
�� 

 1. +��'@38$��+16.?��$	6�� 
 1.1  80$.)+-6�
�1

+ �����4��9�	 *+3��3-����@;���()*+*��,-.,-�
 
 1.2 �������)0-��5?18$�������(.3��4� 
 1.3 �������)0
��.�1
*��8$�2�
.3��4� 
 1.4 $����80���
�	�:�#���(8&�
�35�6��7(0������-����'� 

 2. ���()*+*��,-.,-�
/
,)0-)�$�	12�
.3��4��35�6��7(0������-����'� 
2.1  ���()*+*��,-.,-�
:�#,)0-)�$�	12�
.3��4�
<�.�/�0�35�6��7(0������-����'� 
2.2  ��?D1��3-�
;8$����/�0���()*+*��,-.,-�
/
,)0-)�$�	12�
.3��4��35�6��

7(0������-����'� 
2.3  
��.	���6�	8$�����80�D&�*5+6�������  
2.4  ���()*+*��,-.,-�
:�#
<�.�/�0��(������$����80���
�	�*?6+3�+16.$����  
2.5  �3(��
��.!&�!$/�/
,+:�#7(0���������
<����()*+*��,-.,-�
.�/�0 

�	���
���������	��
��� 

 ��������������� ��
�������� �
  
 ,+���%&�'� !��6��+16.?��$	6��.�$�	1�H+�#	 66 �J (Min = 60, Max = 80, SD = 5.86) -6�
/5S6
���
�!%��	 (�0$	+3 56.70) -D�
U�!-.�-
)6 (�0$	+3 75.60) 
��D"$%�-
�!1:V (�0$	+3 88.90)  
�����%&�'�/
�3(����3D.%&�'�.��:�#-1( (�0$	+3 57.80) -6�
/5S6��3�$�$���!��'?��� 
(�0$	+3 24.50) .���	7(0�5+"$��4� (�0$	+3 53.30) ��3.�@
�&#�5
&#�.���	7(08$�?
�$�������
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��3�$�$���! (�0$	+3 37.80) �+16.?��$	6�����
.3��4������@%��'3 *+3+<�
$.��:�#-1( (�0$	+3 25.60)
�3	3��+�:�#,)0�9�	����)0�6����
2�
.3��4��H+�#	 5 �("$
 (Min = 1, Max = 14, SD = 3.60) -6�
/5S6                         
.���3-����@;���()*+*��,-.,-�
���
���
���� (�0$	+3 95.60) (��*-(�/
?���� 3 
 
?���� 3 
��!��"���� ���
�
 ����#�$%
 ��
������$%
��������&�����������	��
��� �"�������������
��������� �������� �
 ��
��
������'���!������������� (N = 90) 
 

80$.)+-6�
�1

+*+3�����4��9�	 �<�
�
 �0$	+3
�!%   
      ��	 51 56.70 
      5S�� 39 43.30 

$�	1  (Χ  = 66.00, Min = 60, Max = 80, *+3 SD = 5.86) 
-D�
U�!-.�-   
      2-( 8 8.90 
      
)6 68 75.60 
      5.0�	/5	6�/�0�� 14 15.50 
%�-
�   
      !1:V 80 88.90 
      $�-+�. 8 8.90 
      
��-?; 2 2.20 
�3(�����%&�'�-)�-1(   
     7.67(0���	
 6 6.70 
     ��3D.%&�'� 52 57.80 
     .�V	.%&�'� 7 7.80 
     ��3��%
�	��?� 5�"$$
1���SS�  9 10.00 
     ���SS�?��    16 17.80 
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?���� 3 (?6$) 
 

80$.)+-6�
�1

+*+3�����4��9�	 �<�
�
 �0$	+3
$���!   
     7.6.�$���!/��
�0�
   26 28.90 
     ��'?��� 22 24.50 
     
0�8�	/V1����-6�
?��   21 23.30 
     80��������<�
�S   21 23.30 

��.�!�	�!$8$���	7(0   
     �5+"$��4�  48 53.30 
     !$��
!$/�0  32 35.80 
     7.6
6$	!$/�0 10 9.00 
*5+6�:�#.�8$���	7(05+��   
     �����3�$�$���!   34 37.80 
     -�.�/U��	�    24 26.70 
     �1?�/5+�
    24 26.70 
     ($�����	 4 4.40 
     ���
�<�
�S   4 4.40 
$��	�3:�#���
.3��4�   
     %��'3 *+3+<�
$  23 25.60 
     �6$����  16 17.80 
     5+$($�5��  16 17.80 
     ���.(+)�  15 16.70 
     �?0�
.  8 8.90 
     +<�7-0/5S6  6 6.70 
     ?6$.+)�5.��   2 2.20 
     ��3�!�3�Y--��3  2 2.20 
     ,��5
��    2 2.20 
�3	3��+�:�#����)0�6����
.3��4��H+�#	 5 �("$
 (Min =1, Max = 14, SD = 3.60) 
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?���� 3 (?6$) 
 

80$.)+-6�
�1

+*+3�����4��9�	 �<�
�
       �0$	+3 
��3-����@;���()*+*��,-.,-�
  
      ���
��3�<�/��"$�:1�
����                                    4 4.40 
      ���
���
����  86 95.60 

 ����	�������(�����������!�
���� 
 ,+���%&�'� !��6��+16.?��$	6������)0���#	���������4��9�	�6����(8&�
2(	7.6:���-��5?1.�����

$�
(��5
&#� (�0$	+3 37.80) �$�+�.� 
"$ ���(�������Z���?�?��7.6D)�?0$� !�
V1���. ���.��6�*+3
7(0���-��!�'���-�#�*�(+0$. (�0$	+3 31.10, 13.30, 13.30 *+3 4.40 ?�.+<�(��) (��*-(�/
?���� 4 
 
?���� 4 
��!��"���� ��
���
�
�������	�������(�����������!�
���� (N = 90) 
 

-��5?18$������4��9�	 �<�
�
 �0$	+3 
7.6:���-��5?1   34 37.80 
�Z���?�?��7.6D)�?0$�  28 31.10 
!�
V1���. 12 13.30 
���.��6�  12 13.30 
7(���-��!�'���-�#�*�(+0$. 4 4.40 

 ����	�����������������/���
���� 

 ,+���%&�'� !��6��+16.?��$	6������)0
��.�1
*��8$�2�
.3��4�2(	��./
�3(��.�� (Χ  = 4.19, 
SD = 0.71, Min = 2, Max = 5 ���
3*

 1-5 
3*

) *+3����)0
��.�1
*��8$�2�
.3��4���	(0�

/
�3(��.��:1�(0�
 (��*-(�/
?���� 5    
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?���� 5 
��!�����#�$%
 ��
������$%
��������&���������	�����������������/���
����/!
��� ��

��
!��� (N = 90) 
 

�������)0
��.�1
*�� Min-Max Χ  SD �3(��
��.�1
*�� 
$����8$�2�
             2-5 4.14 0.57 .�� 
U��3*:��\0$
 2-5 3.99 0.71 .�� 
���!	���@;2�
 2-5 4.29 0.72 .�� 
������'� 2-5 4.33 0.83 .�� 

2(	��.  4.19 0.71 .�� 

 �����������$
��
(����0!��	��	��$�	���  
  $����80���
�	��35�6��7(0������-����'� -�.��D��(�+16.7(0 4 �+16. (?���� 4) (��
�� 
  1. $����8$��3��:���(�
$�5�� 7(0*�6 
�<�5
��+( (�0$	+3 91.10) �!+�	/7.6.�*��/
�5
"#$	+0� (�0$	+3 82.20) �����3:�
$�5��7(0
0$	 (�0$	+3 77.80) ��"#$$�5�� (�0$	+3 75.60)
���*50�/
$*50� (�0$	+3 40.00) �������-�-�	7� (�0$	+3 38.90) �+"
+<���� (�0$	+3 37.80)
��4���� (�0$	+3 31.10) :0$�$"(/*
6
:0$� (�0$	+323.30) *+3:0$�,)���"�$��� (�0$	+3 8.90)  
  2. $����:����?/� 7(0*�6 ��"#$5
6�	/:0$*:0/7.6.��<�+��/� (�0$	+3 73.30)  ��?�����+ 
(�0$	+3 71.10)  �
��	( (�0$	+3 71.10) �+�� (�0$	+3 68.90) $��.@;�-�	/5�1(5��( (�0$	+3 64.40)
\&.�%�0� (�0$	+3 64.40) *+3
$
7.65+�� (�0$	+3 61.10)  
  3. $����:��,��5
�� 7(0*�6 
�
 (�0$	+3 46.70) ,��5
��?�-3��4( (�0$	+3 26.70) .�,"#
*(�
(�0$	+3 26.70) ,��*?��	��. (�0$	+3 17.80) *+3.�?16.8&�
�����@,��5
�� (�0$	+3 13.30) 
  4. $����$"#
] 7(0*�6 U).�?0�
:�
+(+� (�0$	+3 44.40) �-�	�*5� (�0$	+3 26.70) \�(/
2+5�?��� (�0$	+3 24.40) �Y--��3+<����/*-�8�(/�6$	 (�0$	+3 21.10) ��(�+0�.�
"�$/��(�."#$	
(�0$	+3 20.00) *+3���+�	."$/�+�	�:0� (�0$	+3 6.70) 
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?���� 6 
��!��"���� ��
���
�
�������������������$
�1$%2�����
(����0!��	��	��$�	��� (N = 90) 
 

$����80���
�	�* �<�
�
 �0$	+3 
���������
��1���!����(�� 
 
�<�5
��+(  82 91.10 
 �!+�	/7.6.�*��/�5
"#$	+0�  74 82.20 
 �����3:�
$�5��7(0
0$	  70 77.80 
 ��"#$$�5�� 68 75.60 
 ���*50�/
$*50�  36 40.00 
 �������-�-�	7�  35 38.90 
 �+"
+<����  34 37.80 
 
 

��4���� 
:0$�$"(/*
6
:0$�  

28 
21 

31.10 
23.30 

 :0$�,)���"�$��� 8 8.90 
�����1�����4�   

 ��"#$5
6�	/:0$*:0/7.6.��<�+��/� 66 73.30 
 ��?�����+ 64 71.10 
 �
��	( 64 71.10 
 �+�� 62 68.90 
 $��.@;�-�	/5�1(5��(  58 64.40 
 \&.�%�0�  58 64.40 
 
$
7.65+��  55 61.10 

�����1�����(�	�   
 
�
  42 46.70 
 ,��5
��?�-3��4( 24 26.70 
 
 
 

.�,"#
*(� 
,��*?��	��. 
.�?16.8&�
�����@,��5
�� 

24 
16 
12 

26.70 
17.80 
13.30 

* �+16.?��$	6��?$�7(0.����6� 1 $���� 
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?���� 6 (?6$) 
 

$����80���
�	�* �<�
�
 �0$	+3 
������5%�6   
 U).�?0�
:�
+(+�  40 44.40 
 �-�	�*5� 24 26.70 
 \�(/2+5�?��� 22 24.40 
 �Y--��3+<����/*-�8�(/�6$	 19 21.10 
 ��(�+0�.�
"�$/��(�."#$	 18 20.00 
 ���+�	."$/�+�	�:0� 6 6.70 

* �+16.?��$	6��?$�7(0.����6� 1 $���� 

���!�������������4���������
�/���
�����
(����0!��	��	��$�	��� 

 ���!�������������1$%��������
�/���
�����"���47��
(����0!��	��	��$�	���  
 ,+���%&�'� !��6����/�0-�����U�!���
���()*+*��,-.,-�
:�#�+16.?��$	6��:1�

�+"$�/�0 
(�0$	+3 100) �$�+�.� 
"$ ����<���(2(	�����3-�
��	*+3��? (�0$	+3 72.20) (��*-(�/
?���� 7 

?���� 7 
��!��"���� ��
���
�
������!�������������1$%��������
�/���
�����"���47��
(����0!��	�
�	��$�	��� (N = 90) 
 

���()*+*��,-.,-�
* �<�
�
  �0$	+3 
���*!:	;:���+"$� 2 2.20 
 2	
3 2 2.20 
����<���(2(	�����3-�
��	*+3��?  65 72.20 
 -.�V�/-�(.
?; 21 23.30 
 +35.�(/$6�

�.U��;$�+�1�$�
 8 8.80 
 �����3�$�!�V����. 36 40.00 
  :<��1S/D��	-��_:�
 12 13.30 
  �
��
-�#�%��(�`-�:V�/̀8$8.���0�:�#*+3��0�

���.
�	��� 
10 11.10 
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?���� 7 (?6$) 
 

	
�������������
�* ��
���  ������ 

  ��

�<�.
?;/��4(?��(0�	
�<�.
?; 5 5.50 
  �80�:��/7+6,�/5.$�0�
:<�!�V� 3 3.30 
  �+1��-�
�D�/,0�	�
?; 2 2.20 
  :<�!�V�-3�(�3�
��35;/?6$$�	1 2 2.20 
  �)����0�:�#/�)����0�*.6��
$�./��
�� 2 2.20 
���/�0-�����U�! 90 100.00 
 -.1
7!� 78 86.70 
  ��
-.1
7!�$�(�.4(/*
�\)+ 38 42.20 
  -.1
7!�?0.��
 22 24.40 
  -.1
7!���
-( 8 8.80 
  ��3
�-.1
7!� 8 8.80 
  $�-.1
7!� 2 2.20 
 $�5�������? 12 13.30 
�����(��3:<����-6�
?6��] 8$��6����	 2 2.20 
 ���
�( 2 2.20 
!+���<���( 4 4.40 
 7:��4� 1 1.10 
 ��#�� 1 1.10 
 !+��+.���@ 1 1.10 
 !+��������+ 1 1.10 
* �+16.?��$	6��?$�7(0.����6� 1 ��V� 

�	�8���
���'������47����!�������������4���������
�/���
�����
(����0!��	��	��$�	��� 
 ,+���%&�'� !��6��+16.?��$	6��/�0���()*+*��,-.,-�
 �!"#$���'�-18U�!/50*84�*��.��
:�#-1( (�0$	+3 53.30) �$�+�.� 
"$ ����:�5�"$+($����80���
�	�8$����-����'� (�0$	+3 42.20)             
:<�/50��?/�-��/2��6�/- (�0$	+3 37.80) +(2$��-����+�����
\�<� (�0$	+3 32.20) *+3�6�	�-��.
,+������'�(0�	���-� (�0$	+3 31.10) (��*-(�/
?���� 8 
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?���� 8 
��!��"���� ��
���
�
����	�8���
���'������47����!������������� (N = 90) 
 

��?D1��3-�
;/
���/�0���()*+*��,-.,-�
* �<�
�
 �0$	+3 
���'�-18U�!/50*84�*�� 48 53.30 
����:�5�"$+($����80���
�	�8$����-����'� 38 42.20 
:<�/50��?/�-��/2��6�/- 34 37.80 
+(2$��-����+�����
\�<� 29 32.20 
�6�	�-��.,+������'�(0�	���-� 28 31.10 
 * �+16.?��$	6��?$�7(0.����6� 1 80$ 

  ����
�����
����������89��(��������� 
  ,+���%&�'� !��6�
��.	���6�	8$�����80�D&�*5+6�������2(	��.$	)6/
�3(����
�+�� 
(Χ = 2.29, SD = 1.32, Min = 1, Max = 3 ���
3*

�?4. 1-3 
3*

) 2(	
��.	���6�	8$�
����80�D&�*5+6�������8$�����<���(2(	�����3-�
��	*+3��?-)�-1( (Χ  = 2.79, SD = 0.92)
�$�+�.�
"$ !+���<���( ���/�0-�����U�! �����(��3:<����-6�
?6��] 8$��6����	 *+3
���*!:	;:���+"$� (Χ = 2.50, SD = 1.25; Χ  = 2.43, SD = 1.78; Χ  = 2.00, SD = 1.41 *+3          
Χ  = 1.75, SD = 1.26 ?�.+<�(��) (��*-(�/
?���� 9 

?���� 9 
��!�����#�$%
 ��
������$%
��������&��������!��������������"�����������
�����

����������89��(���������/!
��� ��
��
!��� (N = 90) 
 


��..��
0$	
8$�*5+6�
������ 


��.-3(��/

���7�/�0������ 


��.	���6�	
8$�����80�D&�
*5+6������� 

���()*+*��,-.,-�
 

Χ  SD Χ  SD Χ  SD 

�3(�� 

���*!:	;:���+"$�    1.50 1.06 2.00 1.41 1.75 1.26 ��
�+�� 
����<���(2(	�����3-�

��	*+3��? 

2.63 1.09 2.94 0.75 2.79 0.92 .�� 

���/�0-�����U�! 2.28 1.13 2.57 0.77 2.43 1.78 .�� 
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?���� 9 (?6$) 
 


��..��
0$	
8$�*5+6�
������ 


��.-3(��/

���7�/�0������ 


��.	���6�	
8$�����80�D&�
*5+6������� 

���()*+*��,-.,-�
 

Χ  SD Χ  SD Χ  SD 

�3(�� 

!+���<���( 2.50 1.25 2.50 1.25 2.50 1.25 .�� 
2(	��. 2.18 1.18 2.40 1.12 2.29 1.32 ��
�+�� 

 
 ���!�������������1$%�"���47��	!����	������������$
��
(����0!��	��	��$�	�������

����������  
 ���()*+*��,-.,-�
:�#,)0-)�$�	12�
.3��4�
<�.�/�0��(������$����80���
�	�*?6+3�+16.
$���� (��*-(�/
?���� 8 .�(��
�� 
   1. $����8$��3��:���(�
$�5�� !��6��+16.?��$	6��-6�
/5S6�+"$�/�0-�����U�! �."#$.�$����
80���
�	�8$��3��:���(�
$�5�� 2(	.����/�0.��/
�+16.?��$	6��:�#
�<�5
��+( (�0$	+3 88.90)         
�!+�	/7.6.�*��/�5
"#$	+0� (�0$	+3 74.40) �����3:�
$�5��7(0
0$	 (�0$	+3 65.60) *+3��"#$$�5��           
(�0$	+3 62.20) \&#�-�����U�!:�#
<�.�/�0 
"$ �$�3�!4( (�0$	+3 20.00) *+3bc�:3+�	2�� (�0$	+3 16.70) 
  2. $����:����?/� !��6��+16.?��$	6��-6�
/5S6�+"$�/�0����<���(2(	�����3-�
��	*+3��? 
2(	.����/�0.��/
�+16.?��$	6��:�#.�$������"#$5
6�	/:0$*:0/7.6.��<�+��/� (�0$	+3 65.60) ��?�����+ 
(�0$	+3 61.10) �
��	( (�0$	+3 60.00) �+�� (�0$	+3 55.60) *+3$��.@;�-�	/5�1(5��( (�0$	+3 54.40)  
 3. $����:��,��5
�� !��6��+16.?��$	6��-6�
/5S6�+"$�/�0-�����U�! �."#$.�$����80���
�	�
:��,��5
�� 2(	 3 $�
(��*��8$�$����:��,��5
��:�#�+"$�/�0-�����U�! 
"$ 
�
 (�0$	+3 25.60) 
,��5
��?�-3��4( (�0$	+3 22.20) *+3.�,"#
*(� (�0$	+3 20.00) \&#�-�����U�!:�#
<�.�/�0 
"$ 
�-+(!��!$
?���.�	 (�0$	+3 24.40 ) *+3!+) (�0$	+3 21.10)  
 4. $����$"#
] 7(0*�6 U).�?0�
:�
+(+� �-�	�*5� \�(/2+5�?��� �Y--��3+<����/*-�8�(/�6$	 
��(�+0�.�
"�$/��(�."#$	 *+3���+�	."$/�+�	�:0� �+16.?��$	6��-6�
/5S6�+"$�/�0-�����U�!
7(0*�6 !���7:	 (�0$	+3 22.20) *+3?37
�0 (�0$	+3 20.00) �."#$�Y--��3+<����/*-�8�(/�6$	:�#
�5+"$�+"$�/�0���*!:	;:���+"$� (2	
3) (�0$	+3 2.20) *+3�����(��3:<����-6�
?6��] 8$�
�6����	 (���
�() (�0$	+3 2.20) �."#$��(�+0�.�
"�$/��(�."#$	 *+3���+�	."$/�+�	�:0� *+3
�+"$�/�0!+���<���( (��#��) (�0$	+3 2.20) �."#$U).�?0�
:�
+(+�  
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?���� 10 
��!��"���� ��
���
�
 �������"����!���������������47��	!����	������������$
����
�
�����������
(����0!��	��	��$�	��� (N = 90) 
 

���()*+*��,-.,-�
* 
$����80���
�	� (�<�
�
) 1 

n (%) 
2 

n (%) 
3 

n (%) 
4 

n (%) 
5 

n (%) 
���������
��1���!����(��      
      
�<�5
��+( (82) - - 80 (88.9) - - 
      �!+�	/7.6.�*��/�5
"#$	+0� (74) - - 67 (74.4) - 1 (1.1) 
      �����3:�
$�5��7(0
0$	 (70) 1 (1.1) - 59 (65.6) - 3 (3.3) 
      ��"#$$�5�� (68) 1 (1.1) - 56 (62.2) - 2 (2.2) 
      ���*50�/
$*50� (36) - - 23 (25.6) - - 
      �������-�-�	7� (35) - - 12 (13.3) - - 
      �+"
+<���� (34) - - 14 (15.6) - - 
      ��4���� (28) - - 26 (28.9) - - 
      
+"#
7-0 (27) - - 27 (30.0) - - 
���������
��1���!����(�� (?6$)      

      $����	
 (23) - - 27(30.0) - - 
      :0$�$"(/*
6
:0$� (21) - - 21 (23.3) - - 
      :0$�,)���"�$��� (8) 1 (1.1) - 4 (4.4) - - 
�����1�����4�      
      ��"#$5
6�	/:0$*:0/7.6.��<�+��/� (66) - 59 (65.6) - - - 
      ��?�����+ (64) - 55 (61.1) - - - 
      �
��	( (64) - 54 (60.0) - - - 
      �+�� (62) - 50 (55.6) - - - 
      $��.@;�-�	/5�1(5��( (58) - 49 (54.4) - - - 
      \&.�%�0� (58) - 42 (46.7) - - - 
      
$
7.65+�� (55) 2 (2.2) 40 (44.4) - - - 
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?���� 10 (?6$) 
 

���()*+*��,-.,-�
* 
$����80���
�	� (�<�
�
) 1 

n (%) 
2 

n (%) 
3 

n (%) 
4 

n (%) 
5 

n (%) 
������5%�6      
      U).�?0�
:�
+(+� (40) - - - - 2 (2.2) 
      �-�	�*5� (24) - 2(2.2) 20 (22.2) - - 
      \�(/2+5�?��� (22) - - 20 (22.2) - - 
      �Y--��3+<����/*-�8�(/�6$	 (19) - 2(2.2) 6 (6.7) - - 
      ��(�+0�.�
"�$/��(�."#$	 (18) 2 (2.2) - - 2 (2.2) - 
      ���+�	."$/�+�	�:0� (6) 2 (2.2) - - 2 (2.2) - 
* ���()*+*��,-.,-�
 1 = ���*!:	;:���+"$�, 2 = ����<���(2(	�����3-�
��	*+3��?,  
3 = ���/�0-�����U�!, 4 = �����(��3:<����-6�
?6��] 8$��6����	, 5 = !+���<���( 

�
!	�����29�2�4�4���1$%0!��	��������"����!���������������47� 
  ,+���%&�'� !��6��+16.?��$	6��.�
��.!&�!$/�/
,+:�#7(0���������/�0���()*+*��
,-.,-�
2(	��./
�3(����
�+�� (Χ  = 2.29, SD = 0.49) ���*!:	;:���+"$� ����<���(
2(	�����3-�
��	*+3��? *+3!+���<���( .�
��.!&�!$/�/
,+:�#7(0���/
�3(��.�� (Χ  = 2.50, 
SD = 1.77; Χ  = 2.35, SD = 0.42 *+3 Χ  = 2.50, SD = 1.77 ?�.+<�(��) :�#�5+"$.�
��.!&�
!$/�/
,+:�#7(0���/
�3(����
�+�� (��*-(�/
?���� 11 

?���� 11 
��!�����#�$%
 ������$%
��������&�� ��
�
!	�����29�2�4�4���1$%0!��	��������"����!���
��������������
��:$ ��
/!
�����47� (N = 90) 
 


��.!&�!$/�/
,+:�#7(0��� 
���()*+*��,-.,-�
 

Χ  SD �3(�� 
1. ���*!:	;:���+"$� 2.50 1.77 .�� 
2. ����<���(2(	�����3-�
��	*+3��? 2.35 0.42 .�� 
3. ���/�0-�����U�! 2.13 0.75 ��
�+�� 
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?���� 11 (?6$) 
 


��.!&�!$/�/
,+:�#7(0��� 
���()*+*��,-.,-�
 

Χ  SD �3(�� 
4. �����(��3:<����-6�
?6��] 8$��6����	 2.00 1.41 ��
�+�� 
 5. !+���<���( 2.50 1.77 .�� 

2(	��. 2.29 0.49 ��
�+�� 

����;����
�� 

 �	���
���������	��
���  

  80$.)+-6�
�1

+ �����4��9�	 *+3��3-����@;���()*+*��,-.,-�
  
 �������	
����
�����
���%&�'�/
,)0-)�$�	12�
.3��4� �<�
�
 90 ��	 -6�
/5S6���
�!%��	
(�0$	+3 56.70) .�$�	1�H+�#	 66 �J .�-D�
U�!-.�-
)6 (�0$	+3 75.60) (?���� 1) \&#�?�����,+            
���-<������3����,)0-)�$�	1/
��3�:%7:	�J 2546 :�#!��6�,)0-)�$�	1/
U�
/?0.�-D�
U�!-.�-
)6
.��:�#-1( -6�
�3(�����%&�'�8$��+16.?��$	6��/
���%&�'�
����
�� !��6�-6�
/5S6�����%&�'�            
���
��3D.%&�'� (�0$	+3 57.80) *+3
��D"$%�-
�!1:V (�0$	+3 88.90) -$(
+0$����+��'@3          
8$�,)0-)�$�	1/
U�
/?0 \&#�-<����/
�J 2546 !��6�,)0-)�$�	1/
U�
/?0�����%&�'����
��3D.%&�'�
.��:�#-1( *+3-6�
/5S6
��D"$%�-
�!1:V (-<�
����
-D�?�*56���?� -<�
��
�	���e.
?��, 2547)   
2(	�+16.?��$	6�����
.3��4������@%��'3*+3+<�
$.��:�#-1( (�0$	+3 25.60) �$�+�.�
"$ .3��4�/

�6$���� (�0$	+3 17.80) \&#����-D�?�,)0-)�$�	12�
.3��4� 10 $�
(��:�#!�.��/
,)0��	8$�
2��!	���+-�8+�

��
:�; ?���*?6�J 2541 ���
?0
.� !��6�,)0�9�	��	�3.�-D�?�.3��4�%��'3 *+3
+<�
$.�����
$�
(��*�� *+3/
�J !.%. 2548 .��<�
�
 (�0$	+3 20.80) (5
6�	.3��4� 
2��!	���+-�8+�

��
:�;, 2548) 
 ��3-����@;���()*+*��,-.,-�
 �+16.?��$	6��.���3-����@;���()*+*��,-.,-�

���
���
����.��:�#-1( (�0$	+3 95.60) (?���� 3) ���,+���%&�'�-�.��D$V���	7(0�6� ��3-����@;
.�,+2(	?��?6$����Z���?�-�#�/(-�#�5
&#�8$��1

+ �
"#$������3-����@;���
,+���������	
�)0 
5�"$����)0�5?1���@;?6��] :���/
*�6���*+3*�6+� 2(	�H!�3,)0-)�$�	1:�#.���3-����@;���D6�	:$(

��.�)0,6�
-�	/	8$�
�$�
��� (�1%��*+3
@3, 2546) \&#������4��9�	(0�	2�
.3��4�:<�/50,)0�9�	����)0
D&�
��.:1�8;:�.�
:�#���(8&�
 (��
��
,)0�9�	�4�3*-��5�*
�:�� ��V����?6��] :�#�3.��6�	                
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/
�������-.(1+8$�?
�$� *?6���:�#�3
<���V����/(.�/�0
��
 ���.���3-����@;/
����Z���?�.�
�6$
�3:<�/50-�.��D/�0��V����?6��] 
��
7(0(� (-1!�%, 2549) (����6
���%&�'���3-����@;8$�,)0�9�	
.3��4�/
����<���(�	�	�	�(0�	-.�V�8$���S�
� (2548) !��6�,)0/5080$.)+7(0%&�'�V��.3*+3
�Z���?�.��6$
:�#�3���
.3��4� ���
�Y���	-
��-
1
/50-�.��D�<���(�	�	�	�2�
.3��4�7(0(� �!��3
�
"#$�����."#$.�U��3��4��9�	(0�	2�
.3��4��3.�U��3?6��] ���(8&�
.��.�	���2�
�$� *+3���
���'� \&#��3.�,+��3:�:���(0�
�6����	 ��?-��
. *+3��?��SS�@ (��
��
���.���3-����@;/

����Z���?�.��6$
�3�6�	/
���-6��-��./
�������-)6-.(1+7(0�6�	8&�
 *+3������%&�'�8$�
,����$� (2545) !��6���3-����@;������'�:�#,6�
.�/
$(�?���
�Y���	5
&#�:�#:<�/50,)0-)�$�	1
�+"$�/�0������'�*��!"�
�0�
 �."#$.��1

+/

�$�
������(�����4��9�	8&�
 ��V����5�"$������'�
*��/(:�#�
	���'����?
�$�5�"$�1

+/

�$�
���*+0�7(0,+�4�3
<��+��.�/�0/
������'�
����
?6$7��."#$.������4��9�	\�<�(0�	2�
5�"$$����$	6���(�	���
$�� \&#�-$(
+0$�������%&�'�8$�
!�.!;��+	; *+3
@3 (2530) /
��"#$�!f?����.���()*+-18U�!8$�?
�$� :�#!��6�����+"$�/�0�3��
������-18U�!8&�
$	)6�����"#$
78��3-����@;8$�,)0�9�	 -$(
+0$������� %&�'�8$��f'@�, 
��3
$�, *+3-.��? (2542) :�#!��6� �Y���	(0�
,)0/�0������:�#���#	�80$��������+"$�/�0*+3!f?����.
���*-��5��3��������-18U�!�."#$��4��9�	8$�,)0-)�$�	1 
"$ ��3-����@;������'�8$�?
�$�             
*+3�1

+/

�$�
���  

 �������)0-��5?18$�������(.3��4� 
 �+16.?��$	6������)0�6������4��9�	(0�	2�
.3��4����(8&�
2(	7.6:���-��5?1.��:�#-1( (�0$	+337.80)
�$�+�.� 
"$ ����Z���?�?��7.6D)�?0$� ��6
 ���("#.�5+0� -)��15��# *+3�����
5.�� (�0$	+3 31.80)
!�
V1���.*+3���.��6� (�0$	+3 13.30) (?���� 4) \&#����:f'g�������(.3��4� !��6�������(
.3��4����
��3��
���:�#�\++;��?�D)���+�#	
*�+�7����
�\++;.3��4�(neoplastic cell) \&#����

��3��
�����+�#	
*�+�:�#\��\0$
 *+37(0.�
��.!	�	�.:�#�3$V���	�+7�������(.3��4��!"#$/�0
���
*
�:��/
����c$���
*+3���'�.3��4� *?6�
D&��Y��1��

��.�)0���#	����.3��4�	��7.6-�.��D
-�1����
�+7�������(:�#��(��
 7(0*?6�!�	�80$-�1��6�������(*+3���(<��
�
8$�2�
.3��4����#	�80$�
��������+�#	
*�+�/
�3(��!�
V1���. *+3���:<���
8$�	�
-; (���	� *+3	1!����@, 2541; !�-.@j;, 
2543; -1(�!��@, 2545; Pfeifer, 1997) 
$����
�����-)��15��# �����
$�5��:�#.�78.�
.�����
7�
���("#.�5+0���( ���?��*((.�����
7� 5�"$���7(0�����..�
?U�!���-�������
���
+�	�;:�#
<�7�
:���5�"$:�#��#�$$�.� 5�"$���-�.,�-���-����
2\7!��
-; +0�
.�-6�
:<�/50$�?��������(.3��4��!�#.
.��8&�
 :<�/50

.�*
�2
0.���
.3��4�7(0�6�	 (++�?� *+3
�:��!�, 2544) -$(
+0$�������%&�'�
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8$�-1!�% (2549) /
��"#$���3-����@;����	�	�	�(0�
��?��SS�@8$�,)0�9�	.3��4�:�#7(0������-�
���'�:�#.�
��.,�-1�:����?��SS�@ !��6�,)0/5080$.)+ 5 /
 10 ��	 ��"#$5�"$����)0�6�������

2�
.3��4����(8&�
2(	7.6:���-��5?1 2 ��	��"#$5�"$����)0�6����(���,+���.:�#7(0-�0��.��6$
���
��4��9�	 ��6
 ��
�
"�$-�?�; ���
����$�������-�?�;.�/-6?���$�*+3���.��6�:�#?
�$�7(0�
	-�0��
.�*?6$(�? *+3 1 ��	 ��"#$�6����(���!�
V1���. ���("#.�5+0� *+3���-)��15��# \&#�/
-��
.7:	
!��6��."#$�1

+���(�����4��9�	 2(	�H!�3,)0-)�$�	1�4.���3
<�
��.��"#$��"#$��g*56����..�/�0
����
��.
�(8$�?
�$��!"#$/507(0!����@��80�/��5?1,+?�.-�#�:�#���(8&�
 �!"#$/50?
�$�.�
��.
-.(1+:���:��(0�
�6����	*+3��?/� (����6
���%&�'�
��.?0$����(0�
��?��SS�@8$�,)0�9�	
.3��4� �<�
�
 75 ��	 8$��1�,� (2536) !��6�,)0�9�	.�
��.��"#$5�"$����)0�6�-��5?18$������4��9�	
���(������.��6� (�0$	+3 33.33)  

�������)0
��.�1
*��8$�2�
.3��4� 
 �+16.?��$	6��-6�
/5S6����)0
��.�1
*��8$�2�
.3��4�2(	��./
�3(��.�� (Χ  = 4.19, SD = 0.71) 
(?���� 5) ���,+���%&�'�-�.��D$V���	7(0�6� �������)0���
��3��
���:�#�1

+���-�.,�-*+3
*�+,+-�#���0�
��
�����3-����@;:�#,6�
.��6�2�
5�"$$������4��9�	:�#�,��S$	)6
��
.�
��.:1�8;
:�.�
 5��2�
(���+6��.�$����:�#:1�8;:�.�
*+3.�
��.	16�	��/
������'� �4-6�,+?6$�������)0
�6�.�
��.�1
*�� 2(	�H!�3,)0-)�$�	1:�#.������4��9�	(0�	2�
.3��4��6�.���������'�(0�	���-� �3:<�
/50���(�������)05�"$�80�/� /50
��.5.�	?6$2�
5�"$
��.��4��9�	:�#���(8&�
�6����
-�#�:�#
1�
�.           
?6$?
�$� (Bauman,1965 cited by Kozier etal; 1989) :<�/50,)0�9�	���(
��.5��(�+�� ��?�����+ 
�6$/50���(
��.�
��	( .��������)0���#	����2�
.3��4��6����
2�
:�#.�
��.�0�	*��D&�8��
�-�	����?            
$��7.6-�.��D���'�/505�	8�(7(0 .�
��.�)0-&��6�����?�3-��
+� -)S�-�	
��..�#
/�/
?
�$�            
7.6.��<�+��/�:�#�3(<��
�
����??6$7� �5."$
�<�+���,��S����3?����.:�#
6��+�� ���
-D�
���@;:�#
�+��0�	:�#-1(/
����? �."#$���
2�
*+0�?0$���3-����
��.:1�8;:�.�
 �!��3!	�V�-U�!8$�2�
          
:�# ���(8&�
 �3��#
:$
���(<�������?:�# ���
��?�-18 ?0$�!����
��.��4���( .�
��.7.6*
6
$
              
/
����? -)S�-�	
6�/�0�6�	.��*+3/�0��+�������'�:�#	��
�
 (�
�
1�, 2541; ��S�.�U�@;, -1��?��, 
*+3!�
:��, 2544) \&#�-$(
+0$�������%&�'�8$���(��
 (2543) *+3-.!� (2541) 2(	7(0%&�'�
/
�+16.?��$	6��:�#���
,)0-)�$�	1:�#�80����������'�/
2��!	���+ !��6��+16.?��$	6��-6�
/5S6����)0 

��.�1
*��8$������4��9�	/
�3(��.�� 
$����
��	��-$(
+0$�������%&�'�8$���
:��� (2543) 
���#	�����������)0-18U�!*+3���()*+?
�$�?�.*
�:���+"$�/
������'�8$�,)0�9�	.3��4�          
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�.4(�+"$(8�� !��6�,)0/5080$.)+����)0�6�2�
.3��4����
2�
:�#�0�	*�� ���
*+0�7.6-�.��D���'�/505�	7(0
*+3$	)6/�+0��(
��.?�	 

 $����80���
�	�:�#���(8&�
�35�6��7(0������-����'�  
  ���()*+*��,-.,-�
:�#�+16.?��$	6��
<�.�/�0-$(
+0$����$����80���
�	�:�#���(8&�
           
2(	-�.��D��(�+16.$����80���
�	�7(0 4 �+16. (��
�� 
  1. $����8$��3��:���(�
$�5�� 
      $����8$��3��:���(�
$�5��:�#!�.��:�#-1( 
"$ 
�<�5
��+(/�����3:�
$�5��7(0
0$	/
��"#$$�5�� $�����
,+.�������:�#�+16.?��$	6��-6�
/5S6.�$�����!+�	/7.6.�*��/�5
"#$	+0� 
(?���� 6) :<�/50
��.-�.��D/
����Z���?�������.+(+� -6�,+/50���	6$	$�5��*+3���()(\&.
$�5��+(+� (Iwamoto, 2001) 5�"$���(����+16.?��$	6��.�$������( \&#�$�����#	��
"#$����2�

5�"$,+80���
�	����������'�:<�/50
��.$	��$�5��+(+� �����3:�
$�5��7(0
0$	 :<�/50

�<�5
��+(+� 
$����
��$�����(����+16.?��$	6��-6�
/5S6.�!	�V�-U�!8$�2�
:�#%��'3*+3+<�
$ 
7(0���������'�(0�	���H�	���-������@+<�
$ (?���� 3) -6�,+/50�+16.?��$	6��-6�
/5S6.��YS5�
���#	������������3:�
$�5�� 7(0*�6 ���*50�/
$*50� �������-�-�	7� �+"
$�5��+<���� *+3
��4���� (?���� 4) \&#�-$(
+0$�������%&�'�/
,)0�9�	.3��4�%��'3*+3+<�
$:�#7(0������-����'� 
!��6� $����80���
�	�:�#!�7(0�6$	 
"$ 
�<�+�	�5
�	� ,"#
*(� ��4�
$������$���-� ���*50�/

$*50� 5+$($�5��$���-� �+"
$�5��+<���� �-�	�*5� �	"#$�1,��$���-� *+3�������-$�5��           
.������+�#	
*�+� (Rose, Shrader-bogen, Korlath, Priem & Larson, 1996) $�����5+6�
��$��-6�,+
/50,)0�9�	.�$������"#$$�5�� �����3:�
$�5��7(0
0$	 *+3
�<�5
��+(7(0 
   $����8$��3��:���(�
$�5��:�#!��$�+�.� 
"$ �+"
+<���� ��4���� ���*50�/
$*50� 
*+3�������-�-�	7� ���(����+16.?��$	6��-6�
/5S6.�!	�V�-U�!8$�2�
:�#%��'3*+3+<�
$ 
(?���� 3) \&#�$�����(����0$
.3��4�:�#.�8
�(/5S65�"$.����*!�6��3��	�80�7�/
+<�
$ 5�"$�(���	(
:���(�
$�5��-6�
?0
:<�/50�+"
$�5��+<���� �+"
*+0���4� (��3
$.*+3��@�, 2544) 
$����
��
������H�	���-������@%��'3*+3+<�
$ :<�/50���(���$���-�8$��	"#$�1/
�6$���� 2(	���-��3
:<�+�	�\++;�	"#$�1,��/
�6$���� *+3$�������/
$/
�<�+�	*50� 2(	���
,+������H�	���-�2(

�����@?6$.
�<�+�	 :<�/50?6$.
�<�+�	.����,+�?
�<�+�	+(+� *+3:<�/50
�<�+�	.�
��.�5
�	�.��
8&�
 -6�,+/50���(�YS5�/
����+"
 *+3��4���(/
��������3:�
$�5�� .��!�$����5+��7(0���
���-���3.�@ 2-3 -��(�5;8&�
7� �
D&��3	3-1(:0�	8$�������'� *+3$��.��3	3��+�
�
D&� 6 �("$

:���
��8&�
$	)6������.�@���-�:�#7(0��� (Iwamoto, 2001) 
$����
�����H�	���-������@%��'3*+3+<�
$



 

 

 

57 

.�,+?6$?16.����- :<�/50
��.-�.��D/
�������-+(+�2(	���-�.����:<�+�	2
��-�0��8$��19.����- 
:<�/50�19.����-.����z9$*+3�-"#$. 
   $����8$��3��:���(�
$�5��:�#!����
$�
(��-�. 
"$ �!+�	/7.6.�*��/�5
"#$	+0�
������%&�'�!��6� ���
$����:�#!�7(0�6$	 ���,+80���
�	�8$�������'�.3��4� (Nail, 2002) 
!�.��/
,)0�9�	:�#7(0���������'�(0�	���-� �0$	+3 75-100 (Peck & Boland, 1977; King, Nail, 
Kreamer, Strohl & Johnson, 1985) \&#�8&�
$	)6���8
�( *+3�3	3
��.�1
*��8$�2�
 2(	���
H�	���-�.�,+:<�/50$�?���������S�?��2?8$��\++;+(+� :<�/50�\++;:�#���
-6�
8$��+0�.�
"�$.�
$�?�����b}~
-U�!+(+� �+0�.�
"�$�&�5(��(?��7.6(����(
��.�5
"#$	+0�8$��+0�.�
"�$7(0 (Bender, 
Yesko & Strohl, 2000) ���7(0������-�.�,+��3:�?6$�\++;?6$��?� :<�/50�6����	.����/�0!+����

�<�
�
.��/
�35�6��:�#7(0������-����'� �!"#$\6$.*\.-6�
:�#-&�5�$ ���
,+/50�6����	.�!+����

+(+����(
��.�5
"#$	+0�?�..�7(0 (Continuum Cancer Centers, 2003) 
$����
��$������"#$
$�5�����
-��5?15
&#�/
5+�	] -��5?1:�#�6�.��
:<�/50,)0-)�$�	12�
.3��4����($�����!+�	/7.6.�*��/
�5
"#$	+0� �
"#$����7(0���-��$�5��7.6�!�	�!$���
��.?0$����8$��6����	 :<�/50�6����	8�(
-��$�5��:�#�3
<�.�/�0\6$.*\.-6�
:�#-&�5�$ *+3-�0��U).�?0�
:�
 ���
,+/50�6����	���(
��.
�5
"#$	+0�7(0 (-1(-��:, 2542) 
  2. $����:����?/� 
      2�
.3��4����
5
&#�/
�+16.2�
��"�$���.�*��*,
���(<��
�
8$�2�
:�#.������+�#	
*�+�
*?�?6����
/
*?6+3�3	38$������4��9�	 ,)0�9�	?0$��,��S���$����?6��] .��.�	 :������2�

*+3������'�:�#7(0��� �<�?0$�!&#�������'�$	6��?6$�
"#$�*+3���
�3	3��+�
�
 ��.:���2�
.3��4�
���
2�
:�#
��
1.7(0	�� .����*!�6��3��	 *+3.�2$��-���(\�<� :<�/50,)0�9�	���(
��.�)0-&�7.6*
6
$

/
U��3��4��9�	 .�
��.�)0-&�-)S�-�	
��.���
?��8$�?���$� ?0$�!&#�!�,)0$"#
.��8&�
($U��(�, 2547)          
:<�/50,)0�9�	���(
��.��"#$5
6�	/:0$*:0/7.6.��<�+��/� 
   ������:�#,)0�9�	.�:�%

?�?6$2�
.3��4��6����
2�
�0�	*��:�#
1�
�.����? (��
��
/
�6�� 
:�#7(0���:���,+�����
��H�	 ,)0�9�	.��.��Z�����	�?$�-
$�8$�2�
 2(	.�$������?�����+ �
��	( 
*+3�+�� �
"#$����2�
.3��4����
2�
:�#7.6:���-��5?1*
6��( ��V�������'�-6�
/5S6:<�/50,)0�9�	7.6
-18-��	 *+3:<�/50
��.-�.��D8$�,)0�9�	+(+� $��:���?0$�/�0�3	3��+�/
������'�                 
*+3.�
��.7.6*
6
$
/
,+������'� :<�/50,)0�9�	���(
��.�+��/
5+�	+��'@3 ��6
 �+�����'�        
7.65�	 �+��
��.��4���( �+��������'�(0�	���-� �+��D)�:$(:��� ���
?0
 *+3+��'@3
��.��4��9�	
8$�2�
.3��4� .��.�
��.�1
*��8$�$�����!�#.8&�
��"#$	] ?�.�3	3
��.�1
*��8$�2�
 ��.:���
��3��
������'�2�
.3��4�	��:<�/50 ���(U��3*:��\0$
:�#$��:<�/50,)0�9�	���(
��.�)0-&�                    
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D&�
��.�+��0�	 5�"$
��.�1
*��8$������4��9�	 *.0�6�U�����@;��4��9�	$��7.67(0�<�����            
5�"$	��7.6/�6U��3-1(:0�	 (-.U!, 2544; O�Brien, 1999) \&#�-�#��5+6�
��
1�
�.
��..�#

�:��(0�

��?/�8$�,)0�9�	���
$	6��.�� 
   ,)0-)�$�	12�
.3��4�.��.�$��.@;�-�	 5�1(5��(7(0�6�	 :���
��$�����(���
��.�+��            
*+3��?�����+���
-��5?1-<�
�S (!��@
�U�*+3��3$�
1�, 2530) �
"#$����2�
.3��4�?�.�������)0 
8$��1

+:�#�7� ����)0���#	����2�
.3��4��6����
2�
:�#$�
?��	�0�	*�� ���'�7.65�	 
<�7�-)6 
��.?�	
(���1���@, 2538; ,6$�%��, 2541; +�!@�, 2544) :<�/50,)0�9�	���(
��.�)0-&�7.6*
6
$
/
����? ��3�$�
���2�
.3��4����
�+16.2�
��"�$���.��3	3��+�8$������4��9�	:�#	��
�
 ?0$��80����������'�              
/
2��!	���+�6$	
���� :<�/50���(�����+�#	
*�+�8$�*��*,
����? �&�:<�/50�+16.?��$	6��.����
*-(�$$�:��!f?����.:�#7.6-�.��D
��
1.7(0 ��6
 5�1(5��( 2��V�6�	 �0���0�����������?��
+(+� 
   
$����
�����
��.�)0-&�5��(�+������-�	����? 5�"$���-)S�-�	���:<�5
0�:�#            
8$��6����	 �����+�#	
*�+��:��:*+3-�.!�
VU�!/
-��
. :<�/50,)0-)�$�	1�)0-&�7�0
6� 5.(5��� 
*+3.�$������"#$$�5�� 
$
7.65+�� 7.6.����#	�*�� ��4�?�� 7.6-
/�?
�$� ���(���D(D$	 

��.�)0-&�(���+6��5�����(8&�
.��] $��:<�/50,)0�9�	.�
��.
�(_6�?��?�	7(0 (������?
;, 2545) 
   
$
7.65+�� $�����(����YS5�:��(0�
�6����	 *+3��?/� :��(0�
�6����	!��6� 
�+16.?��$	6��-6�
/5S6.�$������(/��4� 7(0*�6 ��4���� ��(�+0�.�
"�$/��(�."#$	 *+3��(%��'3 
(?���� 6) 
��.��(.�,+?6$���
$
5+�� 2(	.�,+��3:�*��*,
���
$
5+�� :<�/50
$
7.6
5+��?0$�?"#
��+��+��
"
�
"#$����
��.��( 5��
��.��(.�
��.�1
*��.�� 	�#�-6�,+��3:�
���
$
.��?�.7�(0�	 (Potter & Perry, 1995) -$(
+0$�������%&�'�8$���+�
V
; (2546) 
%&�'�
��.-�.!�
V;�35�6�����
$
5+�����
��.��(8$�,)0�9�	5+��,6�?�(�6$�:0$�!��6�               
���
$
5+��.�
��.-�.!�
V;:��+����
��.��( �
"#$����8@3/�+05+��-.$��3+(�������)0 
���-�SS�@��3-�::�#��6����	 *?6D0��6����	.�-6�
/(-6�
5
&#���( -.$��3?$����-�SS�@

��.��(���
�5?1/50
$
7.65+�� (�����, 2543) 
$����
��
	��!��6� �+16.?��$	6��.�
��.��?�
����+�
��	( *+3�+��$	)6/
+<�(��?0
] 8$�$����:�#!��6$	 (?���� 6) 
��.��?�����+ �
��	( 
*+3�+��.�
��.���#	�80$�������
$
5+�� �."#$.�
��.��?�����+ �
��	( *+3�+���!�#.8&�
 :<�/50
�6����	 ��?/� *+3$��.@;D)���3?10
/50?"#
?��$	)6?+$(��+� ���
,+/50���
$
5+��
0$	+�             
*+3�."#$
$
5+��7(0
0$	:<�/50���(
��.����+�!�#.8&�
 �
"#$����/
8@3�)0-&��+��5�"$����+�37�
��3?10
�3��\�.!��V?�� (sympathetic activity) :<�/50.����5+�#��$�;2.

$�;?�2
-�?�	�$	(; 
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(corticosteroid) *+3$(��
�+�
 (adrenaline) :<�/50�!�#.�Z�����	�����,�,+�S (catabolism) 
.��8&�
 :<�/50�6����	?"#
?���&�.�$����
$
5+��	�� (Hoddgson, 1991) 
 3. $����:��,��5
�� 
     ���H�	���-�U�	
$� ,��5
���3.��Z�����	�2(	?��������-�:�#7(0��� ���
�Z�����	�
�H�	�!+�
*+3��"�$��� �."#$7(0������-� 1,000-2,000 �\4
?����	; 5�"$��3.�@ 2-3 -��(�5; 2(	�H!�3
/
,)0-)�$�	1:�#,��5
�����+� 
��.�5
�	�8$�,��5
���!�#.8&�
 �\++;,��5
��.��<�
�
+(+� �\++;             
:�#�5+"$����S�0�+� $�?�����-�0���\++;/5.68&�
.�:(*:
�\++;�(�.+(+�D&��0$	+3 50 :<�/50
��.
	"(5	16
8$�,��5
��7.6(� 
�<�*+3*+378.�
/?0,��5
��+(+� :<�/50���(,"#
*(� (erythema) �����@
,��5
��:�#7(0������-� �
"#$����U��3���
�#�8$��+"$(/
�����@:�#7(0������-� *+3.�$����
�
�6�.(0�	 
/
�3	3?6$.��."#$�����@,��5
��7(0������-���3.�@ 4,000 �\
?����	; ,��5
���3���#.*50� ?�-3��4( 
*+3��+�#	
���
-�(<� (dry desquamation) 
+0�	�$	75.0 ���(������-�7���3?10
/50.����-�0���.4(-� 
(melanin) .��8&�
/
�\++;,��5
�� (Sittion, 1997) 
 4. $����$"#
]  
       U).�?0�
:�
+(+� ���-��3.�,+?6$78��3()� 2(	�H!�3,)0-)�$�	1�3.����.�@78��3()�
+(+� ���,+�?�.4(�+"$(*(�8$��6����	
0$	+� -6�,+/50���(U��3\�(5�"$2+5�?����6�.����6����	
�38�(������.���-+�	?��8$��\++; (phagocytolysis activity) U).�?0�
:�
2�
/
�6����	�4�3
+(+� .����*84�?��8$��+"$(,�(��?����(�+"$(75+7.65	1( *+3���(?�(��"�$7(0�6�	 ($U��(�, 2546) 
  �Y--��3+<����/*-�8�(/�6$	 system) ���(����+16.?��$	6��-6�
/5S6.�!	�V�-U�!
8$�2�
:�#���.(+)� *+3��3�!�3�Y--��3 (?���� 3) 7(0������H�	���-� 5�"$-$(/-6*�6���'�
�����@�6$�:0$� *+3$10��������
 \&#�.�,+?6$���:<���
8$���3�!�3�Y--��3 �&����($�����3
�	�
"$� 
�Y--��3�6$	 *-� 8�( 5�"$��(*-�7(0  
  ��(�+0 �. �
"� $ /��(�."# $	  
��.��(���
$����:�# -< �
�S/
,)0 �9 �	.3��4 �                       
���
����Z���@;:�#.�
��.�1
*��*+3:1�8;:�.�
 (Cleeland et al., 1994) �6$/50���(
��.7.6-18-��	
*�6,)0�9�	.��:�#-1( (Bonica, 1990) -6�
/5S6��(*����"�$��� (-D�!�*+3
@3, 2535) 7.6-�.��D
8��(/505�	7�7(02(	�(4(8�( 2(	
��.��(:�#���(8&�
.�
��.���#	�!�
�35�6����	 ��? -��
. 
���
V��.*+3��?��SS�@ $�
�3-6�,+/50���(
��.�5
"#$	+0� ��?�����+ \&.�%�0� ��"#$$�5��  

$
7.65+�� *+3:1�8;:�.�
 :<�/50
1@U�!����?+(+� (Ferrell, 1996., Glover et al., 1995., 
Roth & Breibart, 1996) ������%&�'�8$�-.!� *+3
@3 (2541) !��6�,)0�9�	:�#.�$������(
���.3��4�.��<�
�
�!�	� 1 /
 5 �:6�
��
:�#.�$������(?�.�6����	�!	�?<�*5
6��(�	�:�#�5+"$ 4 /
 5 
�3.�$������(?���*?6 2 ?<�*5
6�8&�
7� 2(	!��6� 1 /
 3 8$�,)0�9�	.�$������(?���*?6 4 ?<�*5
6�
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8&�
7� *+3!��6�,)0�9�	�+16.
��7(0�������<���($������($	6��7.6�!�	�!$ 2(	�H!�3$������( 
\&#����(���������'�2�
.3��4�(0�	���H�	���-� !�7(0��3.�@�0$	+3 19 ,)0�9�	$����(:�
:�
8@37(0������-����'� 5�"$��(/
�3	3?6$.� �
"#$�����-0
��3-�:-6�
�+�	D)�:<�+�	�3:<�/50
��(*��?"�$] $��.�$�������+�	."$�+�	�:0� ��(*-���(�0$
�1
*��*+3?6$�
"#$� 
��.�)0-&�
��(�!�#.8&�
�."#$�
+"#$
75� D)�-�.,�- 5�"$$1@5U).�-U�!*�(+0$.��+�#	
*�+�7� (��
�!4S, 2541)  

���!�������������4���������
�/���
�����
(����0!��	��	��$�	��� 

 ���()*+*��,-.,-�
:�#,)0-)�$�	12�
.3��4�
<�.�/�0�35�6��7(0������-����'� 
  ,+���%&�'� !��6����()*+*��,-.,-�
:�#�+16.?��$	6��/�0.��:�#-1( 
"$ ���/�0
-�����U�! �$�+�.� 
"$ ����<���(2(	�����3-�
��	*+3��? !+���<���( ���*!:	;:���+"$� 
*+3�����(��3:<����-6�
?6��] 8$��6����	 \&#�-�.��D$V���	7(0(��
�� 

���/�0-�����U�! 
  ,+���%&�'�!��6� ���/�0-�����U�!���
���()*+*��,-.,-�
:�#�+16.?��$	6��/�0
.��:�#-1( �<�
�
 90 ��	 (�0$	+3 100.00) (?���� 7) 2(	��(���
���()*+*��,-.,-�
/
�+16.
!"�-.1
7!� 5�"$,+�?U�@j;���!"�-.1
7!�:�#���
	� (Herbal Medicine) ���,+���%&�'�
-�.��D$V���	7(0�6� ���:�#-.1
7!����
���()*+*��,-.,-�
:�#�+16.?��$	6���+"$�/�0.��:�#-1(
�
"#$�������
-�#�:�#$	)6
)6�����D�����?8$�

7:	.�?���*?6$(�?�
D&��Y��1��
 (7.?��, -1��
(� *+3	�	1:V, 2544)
*+3-.1
7!�7.6�6$/50���(,+80���
�	�:�#�1
*�� ���
-�#�:�#!$�35�7(0/
:0$�D�#
 2(	�H!�3,)0-)�$�	1 
:�#$�%�	$	)6/
�
�::�#56��7�+���2��!	���+ ���
.
�
.7.6-3(�� ��3�$����,)0-)�$�	1.�$�	1.��
7.6-3(��:�#�3�(�
:��7�.�7�+] :<�/50.����5�
.�/�0-.1
7!���
.��8&�
 (�!4S
U�, 2538)  ��V����

<�-.1
7!�.�/�0/
���()*+*��,-.,-�
 !��6��+16.?��$	6���<�
�
 38 ��	 (�0$	+3 42.20)
�����3:�
-.1
7!�$�(�.4(/*
�\)+ 
"$ ���
<�-.1
7!�.��(���
,�*+0�,-.���
�<�,&���Y~
               
���
+)��+$

<�7�,&#�*((�
*50�*+0�
<�.������3:�
 \&#���V�
���5.�3���-.1
7!�:�#.����+3+�	

�<�	��5�"$�+�#
 �- 7.6��
�����3:�
 ��������3:�
-.1
7!�$����V�:�#!�
"$ ���
<�-.1
7!�          
.������3:�
 (?0.) �<�
�
 22 ��	 (�0$	+3 24.40) \&#���V�
���5.�3���-.1
7!�:�#.�-��-<�
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